LaampPron

Power & force MNNocTpMpoBaHHbI KaTaior 3anacHbIX YacTei Mopenb:T517/1E44F
51

438 o
2 ‘.-r‘

23 24N
22 {@ﬁ/) 4 @)c“ \\.r

AN

Ne ApTuKkyn HanmeHosaHue K-so Ne ApTuKyn HanmeHosaHue K- Ne ApTuKyn HanmeHosaHue K-s0
1 02050070030 CrapTep 1 27 03040020020 LWaiba GB97 5 4 53 02070010165 Mpoknaaka 1
raywurtens
2 02050120002 DunbTP TONAUBHDBIN 1 28 03050010015 LLIai6a npyxxuHHanA 4 54 02050010040 nywurens 1
3 61330010019 LnaHr TonAnBHbIN 1 29 03010010046 BuHT 4 55 03010050006 Wnuneka 2
4 02050100006 MnaTa cobayek ctapTepa 1 30 03100010024 CanbHuK 15x30x7 1 56 03030050003 aiika M6 2
5 61330010018 LLinaHr npaimepa 1 31 02050030088 MaxoBuK 1 57 02070010086 Mpoknaaka 1
6 03020020027 BuHT M5X16 2 32 Faitka M8 1 58 70030020015 Tennowusonatop 1
7 70050030073 BaK ToNAMBHbIN 1 33 02050050181 MpoBog cton 1 59 03020020034 bont M5X 25 2
8 02110020026 Mpobka TonansHoro 1 34 | 02050030118 MarHeTo 1 60 02070010073 Mpoknaaka 1
6aka

9 03020020012 BuHT M5x20 6 35 02080020012 3arnywka 1 61 02050020020 Kap6topaTop 1
10 02020160432 3awwTa 6aka 1 36 03040050048 LWiaiba cuenneHuns B 2 62 70030040107 Kpbiwka ¢unbTtpa 1
11 02080020087 AmopTusatop H6aka 1 37 02050160006 CuenneHue 1 63 02110030079 Bont 1
12 02010030018 MNpoknaakKa cTaptepa 1 38 03040050043 LWanba 2

13 03030010017 Faitka M 8*1.25 1 39 02020130003 BonT cuennexua 2

14 61250040006 Onopa ¢unbTpa 1 40 80010020071 KpbiwkKa cuennexua 1

15 02020160533 Mnata onopbl 1 41 03020030014 Bont M5x25 4

16 03020020044 Bont M5x55 2 42 03090020023 NoaWwnnHKK Nanbua 1

17 02090010044 DunbTp BO3AYLLIHBIN 1 43 02020030014 Konbuo ctonopHoe 2

18 03100010009 CanbHuK K/Bana 1 44 02010020016 MNopweHb(16514144)K 1

19 70070050054 Kaptep ctop.cTapT. 1 45 02020010012 Naney, nopwHa 1

20 02070010124 Mpoknagka KapTepa 1 46 03020020053 Bont M5x12 2

21 03090010016 NoawunnHuk 6202/P5 2 47 02020020010 Konbuo nopwHa 2

22 02020120046 KoneHnsan 1 48 02070010037 Mpoknaaka umnnHapa 1

23 03070010002 LnoHka 3x13 1 49 02010050018 Umnuuap 1

24 03060010004 WrndT B4x10 4 50 | 03010010062 BuHT M5x20 4

25 02070020046 MNpoknaaka 6aka 2 51 70030030530 KpbiwKa uunnHapa 1

26 70070050055 Kaptep cTop.max. 1 52 03130010013 Cseuva 1




LaampPron

Power & force MNNocTpMpoBaHHbI KaTaior 3anacHbIX YacTei Mopenb:T517/1E44F

FIG. 2: CG4A30GB SHOULDER BRUSH CUTTER @ »

33
@.—-"’
34//:;1.

HE)

67
Ne ApTikyn HaumeHoBaHue K-Bo Ne ApTukyn HaumeHoBaHMe K-Bo Ne ApTukyn HaumeHoBaHu1e K-Bo
1 61270030006 Peayktop 1 32 70030180133 Ckoba nogseca pemHsa 1 63 80010050078 KpOHLWTENH HUKHUIA 1
2 03120020002 KonbLo cTonopHoe 26 1 33 70030160007 duKkcaTop cKkobbl 1 64 02110030022 XomyT 2
3 03120010001 Konbuo 10 1 34 03040030002 LWawba 5 1 65 02050060070 PemeHb 1
4 03090010015 NoAWUHMK 6000- 2 35 03010060053 BUHT M5X20 1 66 02060040025 | Hox 1
5 02020090063 Ban-wecTepHa 1 36 02010010091 LLiTaHra (26%1.5*1500) 1 67 02110030004 Koxyx HOa 1
6 03020030014 BuHT M5X25 1 37 02020060017 Ban (1534mm) 1 68 02050220013 TpvMmepHas ronoska 1
7 03020030021 Bont M6X12 2 38 02040010003 BTynka Bana (8%¥14*14) 6 69 03030010013 Faiika M5 2
8 80010040019 Kopnyc peaykTtopa 1 39 02080020006 Yni0THEeHWe BTY/IKM Bana 6 70 03010010056 BuHT M5%*14 2
9 02020160080 Yawka 1 40 70080080136 PyKosTka ynpaBneHus 1 71 70030030692 KpoHwTeH 1
10 03020020018 BuHT M5X12 4 41 03010040037 BuHT 2.9X10 1 72 03010010062 BuHT M5*20 2
11 03090010013 MNoawnnHuk 6000/P5 1 42 70030070423 KHonka ctonopa 1 73 61270070072 Ko)Ky)(( KOMI/IEKT) 1
12 02020090012 LLlectepHa 1 43 02020110044 MpyKuHa 1 74 70030030691 Koxyx 1
13 02020090029 Ban BbixoaHOM1 1 44 70030070092 WrnoT 1 75 02010030001 Mpoknagka 2
14 03090010014 NoawwnnHuk 6002- 1 45 70030070421 Pblyar rasa 1 76 03010110124 BonTt M5x20 4
15 03120020001 Konbuo ctonopHoe 32 1 46 02020110028 MpyKuHa 1 77 70030030056 dapTyK KoXyxa 1
16 02020100020 Wamnba pepyKTopa 1 47 70030070167 PyKOﬂTKa, npaBsas NosoBMHa 1 78 03010040074 BUHT 1
17 02020100012 Latba Hoxa 1 48 03010040029 BuHT 2.9X18 2 79 03010040025 BuHT 2
18 03040050014 LWanba 10 1 49 03010010064 BUHT M5*27 1 80 02020070102 Hox o6pesku neckn 1
19 03030010008 | raiika M10X1.25L 1 50 02050040048 | Tpoc rasa 1

20 03060020004 LWnAnHT 2X16 2 51 03030010004 Faiika M6 2

21 61270020002 Kopnyc cuennenus 1 52 61350020001 O60/104Ka Tpoca rasa 1

22 02020050026 BapabaH cuenneHus 1 53 02050050296 BbikatouaTenb 1

23 03120020004 Konbuo ctonopHoe 35 1 54 70030070422 CTOMOPHBIN pblyar 1

24 03090010012 MNoauw-k 6202-2RS/P5 1 55 02020110029 Mpy*u1Ha 1

25 03120010005 Konbuo cTonopHoe 15 1 56 70030070219 PykosTka, npaBas no/soBuHa 1

26 80010030075 Kopnyc cuennexus 1 57 03030060008 Faka M5 1

27 02080020069 AMOPTH3aTOP WTaHMM 1 58 80010050106 KpbilwKa KpoHwWwTeiiHa 1

28 03010010058 BuHT M5X25 8 59 02020160512 PykosTka npasasn 1

29 80010050049 Ckoba A 1 60 02080020123 HaﬁanAau_,HuK PYKOATKM 1

30 80010050068 Ckoba B 1 61 02020160462 PykosTka nesas 1

31 03010010060 BuHT M6X20 4 62 02020160461 KpoHwTeH cpeaHmnin 1




